Prob/Stat/Discrete Name
Unit 9 Practice Test
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1) Patrick borrows;S_()QQ_O ata 3% simple intcre§l rate for 2 years. Find thé amount of interesf accrued.
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2) Heather invests $20 000 for 9 monthsjn an account that earns a simple interest rate of 8%. How much
» lnterest will she earn? o) = 4o, - S 7 e
] ) i 2 mo ( ‘, " o z \
g 1 1/ \ i }) }7)‘/ /)Z Y {'/, S E /:/j/\/ |
i - / ¢ / 2 ‘l

—_ t

3) Franklin borrows $12 000 at 12.5% simple interest for 60 days‘ How much interest will he have to pay back
(assume that a year has 360 days)?
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" 4) Catherine invests $3500 fon4 months }\t a rate of 10.5%. Fmd the future value of the mvestment rounded to
2 decimal places.
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5) Karlrgaorrows $l2 000 at a rate of 8. 2% for six years. How much w'll she have to pay ba back in “_’tﬂ),
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6) Bill(@@ a savings account earning simple interest. (@f the value of the
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7) $7000 is deposited in an account that earns 3%, compounded each year. Find the total value of the
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8) Danielle deposits $2500 into an account earning 4%, compounded monthly. How much money will be in the
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9) A mother invests $2500 in a bank account at the time of her daughter’s birth. The interest is com __Eounded %
quarterly at a rate of 10%. What will be the value of the daughter’s account on her 1wenuelh blrthday, assuming
no other deposits or withdrawals are made during this penod" /1 =20 |
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10) $300 is dep05|ted into an account that is compounded continuously at a rate of 7.5%. F ind the total value
of the account after 30 years. }4 /) e
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( 11) How long would it tak@SOO to become $5000 jf it was invested in an account that earned 8% interest,
compounded semi-annually? If needed, round your answer to the nearest tcnth e /_ / _ -~
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12) Find the number of years it would take for $1 000 to grow to $30,000 if it is in an account that earns 9%
interest, compounded monthly. 1 = /2 g.zsﬁ’ =

[#= P (e 5Y* | G- g2t 21 {1007C) (5:‘ st )

000 (1+21)*° \ () 7t

20000 =
30 = ({.0075’) il -@ ) weudd ﬁ[(e oot 38 years
126
LN, )

e N

13) In order to plan for retirement, Jonathon C/OS—ITS $1500 very six months into an annuity that earns 5% —_—
n=2 Eg@Lounded semiannually. How much money will be in the annuity after 8 years? 4 P(({ + £ _, 3
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14) Belinda deposits $5500 at the end of each year for 4 years into an annuity earning 7%, cgmllgd_ed_
annual]y Find the total value of the annuity after 4 years. —
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15) Use the stock table for Harley Davidson to answer the following questions. \)
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a) What were the high and low prices for the last 52 weeks?
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b) If you owned 900 shares of stock last year, what is the dollar amount of the dividend you received?
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¢) What is the annual return for dividends alone?
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d) How many shares of the company’s stock were traded yesterday?
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¢) What were the high and low prices for shares yesterday?
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f) What was the price at which the company traded when the stock exchange
closed yesterday? 4 é ‘ =
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g) What was the change in price for a share of stock from the market close two days ago to yesterday’s market
/
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h) Compute IBM’s annual earnings per share using: b Lo i closmg'pnce per sl = é_’_ =%
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For #16 — 17: Round answers to the nearest dollar.

16) The cost of a home entertainment center is $4000. We can finance this by paying $500 down and $312.50 per mo.
per month for 12 months. Determine: thé amount financed) the total installment price\ and theffinance charge
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(laan - 330,000 — 16,500 = 3]3500

17) The cash price for furniture for all rooms of a three-bedroom house is $15,000. The furniture can be

financed by paying $300 down and $350 per month for 48 months. :
Determine the amount financed; the total installment price] and the finance charge. (/ 4+£I'£S'f‘>
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g 18) A particular credit card calculates interest using the unpaid balance method. The monthly interest rate is

1.5% on the unpaid balance on the first day of the billing period less payments and credits. Here are some of
the details in the June 1-June 30 itemized billing. The balance at the end of June is $1300.

Date Description Amount
July 10® «{ Payment $200_)
July 13® Airline tickets $380
July 17 Car repair $120
July 24® Groceries $140

a) Find the interest accrued in July. | &Y o 50
L 2

.= 200 pad
Ldaest 5ucﬁmf&¢uﬁwg£<-7}%% ol X //0_0;#/&'50

b) Find the total balance owed on the last day of the billing period. 7
(360 — 200 + 380 + 120 +/40 + 16.50 'j— [756.50 l boleace el
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¢) This credit card requires a $10 minimum monthly payment if the total balance owed on the last day of the

billing period is less than $360. Otherwise, the minimum monthly payment is —316—0f the balance owed on the

last day of the billing period, rounded to the nearest whole dollar. What is the minimum monthly payment due
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19) The price of a home is $330,000. The bank requires a 5% down payment. After the down payment, the
balance is financed with a 30-year fixed-rate mortgage at 8.5%. Determine the monthly mortgage payment
P(L

(excluding escrowed taxes and insurance) to the nearest dollar.
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20) The price of a home is $320,000. The bank requires a 15% down payment. The cost of the home is
financed with a 30-year fixed-rate mortgage at 6.5%.

a) Find the required down payment. /5’7, of 320,990 / o
15 x 320,000 7 18000

b) Find the amount of the mortgage.

320 660 — {$,000 g272, 600

¢) Find the monthly payment (excluding escrowed taxes and insurance.) Round your answer to the nearest
dollar. TR
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d) Find the total cost of interest over 30 years. Round your answer to the nearest dollar.
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